Efficiency vs dr

x 0.02

0

DQM_CKF_TTbarPU
DQM_mkFit_TTbarPU-noDNN3

Ratio

15

SF T
£.018F s
B.016F -+
c C .
G) L .
®.014f -+
= r .
9.012F -
0.01F -+
0.008F---+
0.006fF -+
0.004F---
0.002F -+

DQM_mkFit_TTbarPU-clonerfix3

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
1Q

Ratio

1.

1

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

> 0.0 T T T
o S TN O WO L T

o T R S
T S IS SUAIE SR SR
51 : : : : : :

S St A (I
= : : : : : ]

RS L IR AR L
T
e S M R s o
e SIS AN S RS I RS

0.002 ..... .....
Sl

0.001
0

Ratio

15 B b o B KR AT 2§ ] R
-4
1 - EF e o BEEEEED

60 70 80 90 100
Pileup



	Contents
	Page 1


